1)

For Private Circulation Only

() SUGhH TRUcH, TR R

SUYH A
TS R

q) SUYh gl

SRICTRA URTE JATTaY SRTeled] IRkl JTd GSpio—TRRIgE 3TTed. AT ThRAT ThIRIAIIUIE
3MRIe TR oo 3T,

37) Sar! ) Agave %) Safflower g) 3
Tt ST :
9) 31 3T § Q) § 3T & 3) & T 8 g) § 3T

Plants with crassulacean acid metabolism are highly drought-resistant. The economic plants with
this type of photosythesis are .................

a) Sorghum b) Agave ¢) Safflower d) Pineapple
Answer options :
I)aandb 2)bandc 3)candd 4)bandd

Ul JERTIT g&f HeTiciiel oS aTuRel ST,

9) T ESHINRT  3) VT fAg 3) 71 Fiferer &) Fr9e AT
The wood of tree species is used in pencil industry.
1) Adina cardifolia — 2) Abies pindrow 3) Toona ciliata 4) Juniperus virginiana

Araeiedl UugTed] Jeai e ........ 1 IRRIGR WIEMRIT WIS HIIER 30 dhel ST,

9) I ?) i 3) Mfem %) aNIeTD! P
Jute fibre is seperated in pools of stagnant water from the stem by a process of :
1) Crushing 2) Calendering 3) Retting 4) None of the above

EIEC gc1 AR Jefep (Saueiy) aies ... 3R o1

9) WRITH FellReT ?) e RIeEIRITS
3) SFRET IR g) uRmfdrm afedt
White Button Mushrooms are scientifically (Biologically) named as

1) Pleurotus f!orido 2) Volvoriella volvoceae
3) Agaricus bisporus 4) Eremothecium oshbyi

........ GToiieldeh! ST&TAT STl aoR gl dTs- S-TaUTATS! dhell ST,

q) PHIIC AlHT ?) A <ot 3) ufce Rg g) fUAe AR
........ grape variety from the following is used for making white wine.
1) Cabernet sauvignan 2) Pinot blanc 3) Petite sirah 4) Pinot noir

ARIIST SAUIRATS! WTefieiid! HIord i Fafd TR 31g ?
q) TP Q) T 3) IR 8) g
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Which of the following is the most suitable crop for silage making ?
1) Maize 2) Cowpea 3) Barsim 4) Lucerne

st (1) gefies sregrean arst (11) Aefies ITeqraisR, W Geffadbadn ki gl SUANT Horl, AT
ST oneT.

argt - 1 ardt - 11
31) WS 9) @&d
§) HURT Q) WM Uid
) Sart 3) SrTeToTT
g) Uar %) =T
R SR :

I § T 8
H 4 3 2 1
2) 3 1 2 4
3 1 2 4 3
4 2 3 1 4

Match words in List - I with List - IT and select proper answer, using the codes given below.

List - I List - I1

A) Edible o1l 1) Manure

B) Compost 2) Food crop

C) Jowar 3) Ground nut

D) Straw 4) Fodder

Answer Options :
A B C

) 4 3

2)

3)

4)

N = W
W N =
S N I
P

TSB! DIV IR HIGAT FHIVIER STBIIT G aT oSl Dol fera aToR st STl 2

9) 3 R) WRrft g 3) AFRY g 8) dgdt =
Which of the following materials is collected from forest for its use on large scale?
1) Flowers 2) Khair leaves 3) Teak leaves 4) Tendu leaves

TRET § oo 1 foeprea fRRedT T ITaRET TUR e,

9) BT TN, M 3. figs U R) HPI, TIN5, Theo b
3) o9& 8) BRI J&
'‘Murghas'is prepared from the green roughages of ........... .

1) Lucern, Berseem etc. dicotyledons crops  2) Maize, Jawar etc. monocotyledons crops
3) Forest Trees 4) Horticultural crops

TERTE AU ARRY WaT gaaRten At : A= fasm/ v
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The fodder grass evolved by crossing Napier grass and African bajra is known as...........
1) Elephant grass 2) Hybrid bajra 3) Gajraj 4) Para grass

BTG FATIAICT FIGIGUD! DIUAT J&rdT TR gl ?

q) T R) 9IY 3) T, 8) R
Select the species suitable for Paper Industry.
1) Teak 2) Bamboo 3) Tendu 4) Khair

HLAT (PI) PIUAT AT TISTAT THITIRIT DI ?

q) SRR FFIBHNAN (ST qSB)  R) bR MBI ()

3) STBRMT T (W) g) bR BRI (R )
Katha (Kat) is extracted from the heart wood of the species ......

1) Acacia auruculaformis (Australian Babhul) 2) Acacia nilotica (Babhul)
3) Acacia catechu (Khair) 4) Acacia formesiana (English Babhul)

DIUT JEURT ‘BRI’ TIR bost S ?

1) D ?) T 3) 3 ¢) fosa
‘Sealing Wax' is prepared by which tree ?
1) Babhool 2) Kusum 3) Mango 4) Limb

TERTE AT ..., g SffegsedT Aald g a7 Icare 3.

q) STBS IS Q) T 3) SN Biks 8) g,
In Maharashtra State ...... is the most important forest produce on the basis of economic value.
1) Fire wood 2) Bamboo 3) Timber wood 4) Tendu

DIV BIHS HFEIN HieR AIC! qoRS S ?

q) T R) SR 3) I8 g) arsT
Which wood 1s mostly utilized for furniture ?
1) Sandal 2) Teak 3) Banyan 4) Mango

TTSIBUD! DIV F&T SHRC BIDHSRIC! IPHE UG ST ?

q) 15D ?) W 3) AW 8) ffa
Which of the following trees is excellent for building-wood ?
1) Babul 2) Khair 3) Teak (Sag) 4) Mango

TERITe FRFRT asaremT fJaR adr, Faffes Scst o | o ...
q) 91, 3) dg, 3) ARG BIgS 8) Tad

When income from different forest produce of Maharashtra is considered, the source of highest
income s ......
1) Bamboo 2) Tendu 3) Timber 4) Grass
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) T R
BRI TP JMEHUR acids (3TFs) e FANIE [P 3.

FhHIE SISl BT -

a) fierR - iRfes s b) Tt - AR 3RS

c) - eRai® s d) THer - 3Nasiod RIS

e) J§e ¥ (G@l) - Sfdcd 3RS f) fosg - ARfcd 3iiTs

g) PlcHrEr @ - NS RS h) FeHaT @ - ARG RIS
R SR :

1) (c) ?) (@) 3) (2) 8) (h)

Some naturally occurring acids are given below with their sources.
Identify the incorrect pair :

a) Vinegar - Acetic acid b) Oranges - Citric acid

¢) Tamarind - Tartaric acid d) Tomatoes - Oxalic acid

e) Sour milk (curds) - Lactic acid f) Lemons - Citric acids

g) Anti sting - Methanoic acid h) Nettle sting - Sulphuric acid
Answer Options :

1) (c) 2) (d) 3) (@) 4) (h)
3T (RoR) #elles e ag @ g ... @ ... o I«

9) MBI T THT ISUR TS Q) TRRIF T TCH ISUR TS
3) fReH - < 7 g 8) ®g @ R - ar

The characteristic flavour and aroma of Ginger is due to ...... and ......

1) Oleoresin and Volatile oil 2) Niacin and Volatile oil

3) Vitamin-C and Iron 4) Iron and Vitamin-A

GTSIBUD! DIV AFHUGTS SIhe! IR TR AT ?
q) T3P 3 Q) IR 3T 3) R I ) RN 3T

Which of the following acids is manufactured using sawdust ?

1) Oxalic Acid 2) Citric Acid 3) Acetic Acid 4) Butyric Acid
DAL ........... STTATe hicehTeh 3.

a) & & & b) arEreRfFe ¢) o d) & va A
R drorar gafg / o SRR e / T ?

q) a 370 b wh ) b &h 3) ¢ Bh ¢) ¢ affor d

...... insecticide is present in neem plant.

a) BDT b) Azadirachtin ¢) Aldrin d)B.H.C.

Which of the option/s given above is /are correct ?

1) (a) and (b) only 2) (b) only 3) (c) only 4) (c) and (d) only

BT FHIRIT 3igerd] Falieres 4T &la?
9) 9uv fac 2) Tt e 3) ¥t fic &) e e
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Which essential oil is having a maximum export ?
1) Pepper mint 2) Japanese mint 3) Berga mint 4) Spear mint

SRIEAR: T I 3R,
q) arafer /e ) S gar 3) TIRRTR effewifert 8) wegforn Ix=a

Salai gum is the product of ......
1) Boswellia serrata  2) Bauhinia retusa 3) Anogeissus latifolia 4) Sterculia urens

...... I BRI 3ol fhveed Jageaded Udh dhelel IRIAT, ST 3SRy FgUdTd.

9) S B (SRIHHSTAT) Q) AR foreht

3) 3RBI UH Q) T3

...... contains calcium oxalate crystals are Packaged in raphides, arranged in bundles called idioblasts.
1) Dumb cane (Dieffenbachia) 2) Glory lily

3) Areca palm 4) Alfa-alfa

.28 M. g I Heheurd IS 3R M

a) TITH 30T IF ISHID 89 YR, b) SFWRIEIBRIT Terelelt TR .

C) STTeTraT =TT PHT R, d) TrEc AT IFTo-d YR HHT PR,
ittt piorr /<t e/~ @ ame/emed ?

q) (a), (b) 37T (d) R) (b), (c) 3mfor (d)

3) (a), (b), (c) 3T (d) 8) (a), (b) 3T (c)

Benefits of KVIC biogas plant are :

a) Supplies clean and high calorific fuel. b) Provides anaerobically digested slurry.

c) Reduces the destruction of forests. d) Reduces the pathogenic load of night soil.

Which of the above statement/s is/are correct ?
1) (a), (b) and (d) 2) (b), (¢) and (d) 3) (a), (b),(c) and (d) 4) (a), (b) and (¢)

SRR Fffdmed RIfSe goer sift Saared e ?

q) 39 g P SIS R) oM g P sRIsTadEs
3) 399 T 3fffaaeH ) 399 T EIGSH

Which is the final product of anaerobic digestion in the production of biogas ?
1) Ethane and Carbon dioxide 2) Methane and Carbon dioxide
3) Ethane and Oxygen 4) Ethane and Hydrogen

S - () SUYH T, TRYAIORT IR
q) SUYh qARTe!

-¢  3-3  $-3 4}  §-9 -3 (-8  j-8  90-3

99-R QR-3 PB-R 9%8-3 Q4= 9&-3 Q-3

) TS RIRA

-9 3-9  ¥-x  4-9 §=9 -9 (-3  ’-%
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(90) 3Nveh TR, T RS e

3ityelt gt
R Sie
q) 3ityelt aeR
TN ......... AFTIRET 3iT9er fyesdrd
q) g ?) AT 3) a™ 8) et T 7T
Drugs are obtained from the of the plants.
1) Roots 2) Bark 3) Leaves 4) All of the above parts
3T U -
q) AR ST IS Q) WRT AR e dis
3) Pl A §is DRISIRIEISEES
Opium means -
1) The capsule of the Poppy 2) The capsule of the Indian hemp
3) The capsule of Coca plant 4) The capsule of Ganja plant

Td AL Y ST T T Bid

9) STRI%es; derdt; R 3T sid Q) T Sl s€ieT; RR; 3mmer onfor grarfet
3) STRI%es; &dT; el 3T fiRug ®) derdl; ofeT; IR ST SAahes

All spice combines in itself the odour and flavour of

1) Nutmeg; Cardamom; Cumin and Anise 2) Fennel; Cumin; Ginger and Cinnamon

3) Nutmeg; Clove; Cinnamon and Pepper 4) Cardamom; Clove; Saffron and Nutmeg

............... ST I, 3] AR T~ STARTS! TR ST,
q) fSfoicfor =it ) Re=epiT TR, 3) PREBS spp. (PRHS) 8) HEIRT ST HTRA
............... being a Cathartic, is used for the treatment of atomic radiation burns.
1) Digitalis purpurea 2) Cinchona spp.
3) Aloe spp. (Aloe vera) 4) Mandragora offinarum

GTeflertdl droft fERIT Heam Jcmasdd (SRRIRTE) dalre Had ol JRIET 3R ?

9) Tefufhetd R) MM dg 3) OfIfére dg ) JEh dqos

Who amongst the following can direct the safer ingestion of essential oil ?

1) Aroma therapist 2) Untrained herbalist 3) Trained herbalist ~ 4) Medical practitioner

e I &,

9) gefch! R R) 3IRR I 3) A% TEIART SRAATd 8) SFUTARGE! 3T
Vegetable oils are ......

1) Light 2) Volatile

3) Made up of comPlex chemicals 4) Greasy

HERTE AISTAFT ARRY Wa gEuRiar ARl : A s/ g¢
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AR TA T ... TEUT HATGdel SN,

q) T fUerdt /U@ Q) g&H o9 wum 3) Feft mgum %) a¥ieT A HBRIT
An essential oil is stored as ......
1) Tiny sac 2) Microdroplets 3) Glands 4) All of the above

e GRS daTrd! A1 g T Ho SIS AaeR odell SR, g arad
q) Tf T 3R, R) oof aRIeT 3R 3) o T oMR 8) aITh! el T

"All essential oils are named after their plant of origin" - This statement is
1) Completely true 2) Completely false  3) Partially true 4) None of the above

aitweft anifor Friehea TIR FRUIRAS! DHIVAT S Tad AR ?

9) ARIS Q) YT 3) TR ) T
Which type of grass is used for medicine and scent preparation ?
1) Marvel 2) Pawana 3) Gajraj 4) Rosha

GTAGUD! DIV TR PHad (Hofl) TRe TIR PROINTS! AR 2
9) fermoy ) 4 3) Sffarop g) fopog

Which of the following is the unicellular fungi used in wine preparation ?
1) Viruses 2) Sugar-cane 3) Bacteria 4) Yeast

R) TS 3T

TR PiaTiellcened SURRIT PIfSaD TRID RS 3R

9) spifesT ST PSS R) fewifaa= anfor SRl
3) NS ST ERINARIATS 8) TS 30T R
Cardiac glycosides present in the plant foxglove are:

1) crotin and crotonoside 2) digoxin and digitoxin

3) hyoscine and hyoscyamine 4) strychnine and brucine

foaTa FoMe JAEBURT FelcgHissdl G&I HHR gl 3e:

RNEEIEE] Q) FfeH 3) gauRfeT 8) SRS
The predominant flavanone type of flavonoid found in the citrus fruits is :
1) Apigenin 2) Catechin 3) Hesperidin 4) Genistein

STETd JTEHUIRT FelcgHigsal W TelcgHiss TR & 3g:

JRNESIEE] R) AR 3) e 8) SR
The Predominant flavanone type of flavonoid found in grapefruit is :
1) Apigenin 2) Naringenin 3) Quercetin 4) Genistin

SIS o DI YT f[APRIGR aToRS ST HIoTe IRYCHIRET oTH P> T ?

9) T JMdeT Q) Ui for=mer 3) IMSRITIT STHRRT 8) STRITH HaeH
Isabgol that is used in stomach disorders is obtained from

1) Plantago ovata 2) Pongamiapinnata  3) Ougeinia oojeinensis 4) Ocimum sanctum

HERTE ASTAF ARRY Ha gEuie Armlt : A e/ ¥
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IR PIBURIT FEC! STOIR R PRUIRG 9 R Ge<dd aTiRe! o 37ed. 3edl STaR
Tgdidie Jregfuer 3ifdie amvafoT=a 3TTed.

AR 3ifeeft Feacia AegEaid 3000 IR 3. I IdTaT PDIoTT AT Faid 37 sieiged
FRU dT9ReT STTcl ?

9) 3 ?) TS 3) M g) foam

Plants have been used as healers and health rejuvenators since times immemorial. More than half
the drugs under clinical use owe their origin to plants.

The Glossary of Indian Medicinal Plants lists 3000 plants.

Which part of the plants is used most for medicinal properties?

1) Roots 2) Bark 3) Leaves 4) Seeds

P FETE AF SITE 3% P

9) wWe 2) SR 3) T &) arib Tgl

Which tree's oil is medicinal ?

1) Castor 2) Eucalyptus 3) Jojoba 4) None of the above
RN STIRRATS! SUART FSATchial! A1

a) fIar gt b) I g& c) ST foher

d) a9 (SFRRCIFAST FHITHINT) e) 95D (SRR grIoR)

IRISUD! DI /PIUIIT VST PRINTEaR. SURRIAST ITIRuITT JUR ‘THAIG & AR DIeUIRITS!
JIRS! ST/ ATIRIT ST,

1) (a) R) (b) 3) (c) 3T (e) 8) (d)

List of the species useful for the treatment of diseases :

a) Willow plant b) Yew tree ¢) Dog fish

d) Wine (Ancistrocladus korupenis) e) Frog (Epidobates tricolor)

Which species is/are used for the isolation of 'taxol' which is used for the treatment of cancer ?
1) (a) 2) (b) 3) (¢) and (e) 4) (d)

aiivet ger afifer IueT oTTe.

9) Hifthe Q) RIS 3) FARITITA ) fFIRTdSH
............ 1s a natural drug.

1) Morphine 2) Ampicillin 3) Chloroquinine 4) Phencyclidine

et G TRT giRUmT gl dRara St .

q) SEHA At ST R) et ST

3) Teult defl ST 8) G RIS dTuRet! ST

When are the essential oils fast acting ?

1) Applied externally ~ 2) Inhaled 3) Gargled 4) Used as mouthwash

ERTE AISTAFT ARRY Wa gauRiar ARl : @ s/ 4o
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(99) RIS RRIHRT

ATIfghIST frary
RIS SR
NUEIIERE]

TS

Sifas @

q) RIS fRRIR
TGS fRRIGRUME) @9 TRod 9cdh TG PN,

a) RICIeT b) BRelTsi= c) et d) TeRIfS® Bfgem
gt SR :

q) & vt A R) (a),(b),(c) 3) (a),(b).(d) 8) (a),(c),(d)

The fundamental requirement for nitrogen fixation are :

a) Nitrogenase b) Ferredoxin c) ATP d) Aerobic conditions
Answer Options :

1) All the above 2) (a),(b),(c) 3) (a),(b),(d) 4) (a),(c),(d)

Ao fRRITRUT ST ARG I BRUTNITS! JMAeTdH SRIeiedl ARIGSHST AT ARIce Redest
TSTTgrAed Wefietdh! DIV G&r UNd e AR ?

9) & Q) WIS 3) TAifetesd ) IR

Which of the following micronutrient present in nitrogenase and nitrate reductase enzymes

essential for nitrogen fixation and nitrogen assimilation ?
1) Zinc 2) Manganese 3) Molybdenum 4) Boron

GTetletddh! Pivrt 3118 TfT gaex Ufd af Yo fohel A ANGH ot 2

) YD IHTRFG AP HT Q) PR sfeprafemhifer

3) Ficus religiosa ¥) Azadirachta indica

Which of the following tree contribute upto 50 kg Nitrogen per hectare per year ?
1) Acacia auriculiformis 2) Casuarina equisetifolia

3) Ficus religiosa 4) Azadirachta indica

?) SifFeAmrRIc

HERTE AISTAFT ARRY WaT gauRiar ARl : A s/ 4
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3) IrsnfRAaRe™

Gleiteldh! v T NIRRT hRIgT glar ?

q) S, HepT ?) freht, e 3) e, digt 8) I, Rt
Which of the following crops are benefitted by Azospirillum ?

1) Bajra, Maize 2) Chili, Tomato

3) Potato, Onion 4) Groundnut, Sunflower

¥) 3SICIdFR

EIGICES R

a) Rhizobium I) SIS 37T SIgU A AgSitad 3TIfOT arareRuciel N fFR1eoT &,

b) 3feiciacy IT) FH1-geRigither T Sart, Aicht 9o, dige I JRiHed g,
¢) Shicar I1T) AESie AEeTgR ANTreaT HoreaT Mome g

d) srsfeRem IV) RifSes FH1-geRIgithas 3T goh frae ey

Tt SR :

¥ § & 3
Iy Gv) @) () (1)
2) () (@ (i) @[v)
3) (@) Gv) ) @)
4) (i) (v) (@) Q)

Match the following :

a) Rhizobium I) Symbiotic association with trees and shrubs and fixes atmospheric N.

b) Azotobacter I) Chemo-heterotrophic bacteria associated to live within roots of
sorghum, pearl millet, rice

c¢) Frankia III) Live 1n the root nodules of legumes through symbiotic relationship

d) Azospirillum IV) Aerobic chemo-heterotrophic and free living bacteria

Answer options:

@@ () (¢) (@)
1) (v) (i) (1) @)
2) () @) (@) @1v)
3) (@) Gv) (1) (@)
4) () (v) @) @)

4) YRIBRRIST

GTeHIeTUeh! DU IR aTe] 20T ¥ B ?

9) IFEACITIR Q) I fe=a dared 3) YRIPRIE g) ffFeTmrriica
Which one of the following facilitates an increased uptake of phosphorus ?
1) Azotobacter 2) Biue green algae 3) Mycorrhizae 4) Actinomycetes

HERTE ASTAFT ARRY Ha gauie Armlt : A= s/ 43
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§) TRIfSwIET foramy

Sifdes ARG fhaieM SR, TRITGHIRT fSTaT] BIoT HUIAR HRATHED HRad ?
9)NO, toNH,#&d )N, toNH*#&d  3)NH*INO, #&d %) NO, d N, #ed

During biological nitrogen fixation, nitrifying bacteria convert ......
1) NO; to NH* 2)N, to NH,* 3)NH,*to NO, 4)NO, to N,

) TSR derefRan
............ T URHAGRRIM ARG daeNATgR MR ARIceq ey HUiR &I,

9) ArRIffthapI Q) GffiaR 3) Tfrefierar g) R
During the process of ............ ammonium is converted into nitrate by Nitrosomonas bacteria.
1) nitrification 2) mineralisation 3) mobilization 4) immobilization

TRIGRIHRT gR dToRel VR 3Rifdd St |l

q) IfEDEA Q) wHdAe 3) M 8) RFNCT
The inorganic energy source used by Nitrosomonas :
1) Alcohol 2) Succinate 3) Annonia 4) Fumarate

¢) ENfeH

R FRET delell TGS IS SRl e alferaiHgd A1 FRoUI SRR el
ST

ax)émmﬁ 9) IS &) I g) gt
IRITID! PO HiE I 318/ 37T 2
9) Whh 3 Q) 3 3T § Feh 3) e, g d Beh  8) P 3T S Fch

Nitrogen fixed by the Rhizobium is translocated through xylem vessels of the host plant in the
form of

a) Asparagine b) Glutamine ¢) Glutanin d) Thiamine
Which of the above form is/are correct ?
1) aonly 2)aand b only 3)a,band c only 4) c and d only

WEICIE

9) TG 3rAIT Q) uffafery fefen  3) ArMIEaRan 8) qRITIdN Prarar ATar
The blue, green algae is also known as ..........

1) Anabaena azollae 2) Penicillium digitatum
3) Cyanobacteria 4) None of the above

TERTE ISTAFT ARRY Ha gauier [rmlt : A e/ 48
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TRICIOH fRR IRUIRITS! WTefietidh! PIvr dared STRd ST SUaRTt 38 2

q) FARIBRAT R) e 3) BreImER 8) R}
Which group of Algae plays a dominant rule in Nitrogen Fixation ?
1) Chlorophyceae 2) Myxophyceae 3) Rhodophyceae 4) Phaeophyceae

90) Sifds &a
PV T g Sifdeh Td U w@at S ?

a) Mg Td b) QroREd c) A d) fRe &d
Tt S

1) (a), (b) AT (c) R) T ()

3) & (d) 8) (a), (b) 30T (d)

Which fertilizer is known as Bio-fertiliser ?

(a) Vermicompost (b) farmyard Manure (c) Rhizobium (d) Green Manure
Answer Options :

1) (a), (b) and (c) 2) Only (c) 3) Only (d) 4) (a), (b) and (d)
<o FITIRIT St 3MoT geref gl fAeaum=ar SHarofT ... UGIG]

9) T ?) TR 3) IR ¥) Tfexe
Bacteria that obtain both energy and material from organic sources are called........

1) Autotrophs 2) Heterotrophs 3) Phototrophs 4) Protists

3ngef RRassar waren fUemed Wreflertd! Do ais-a Iy 3rTel uTfgeld ?

a) ¢ oM dieh SRA SATE ANTeRt AlSdeR Wad 37g

b) T ATl UTogTa RS HHT IRATAT

¢) I @il HE WOTel ST ST T HiGAT THIONT A —adad S SR

d) AT IY® Hes UUTTedl 0T fAfRrE TGHT Sncieh AT

i SR :

9) %eh a, b 3T ¢ R) a 37T b Fh 3)b,c 3T dwh  ¥) a, c 30 d Fh
Which of the following desirable characteristics of an ideal green manure crop should possess ?
a) It should be legume crop with good nodular habit

b) It should have litle water requirement for its own growth

c) It should have a deep root system and contain large quantities of non-fibrous tissues

d) It should have a shallow root system and certain fibrous tissues

Answer options :

1)a,band conly 2)aandb only 3)b, cand d only 4)a,canddonly
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(92) faurt 3nfor gffeRe T =a<

9) TR g™ Q) WISy Fiust  3) WIS} URTeT  8) ey TuRa
1)  Scientific name of Fall Armyworm Pest is -

1) Spodoptera Litura 2) Spodeptera Frugiperda

3) Spodoptera Exigua 4) Spodoptera Hipparis

Q) e 2 U Tyl RITSfd qor amg Symed Godt, AN faest TR 5 SR,

q) TR Q) TrefeRM 3) P 8) fesam
2) ... is a complete parasitic weed having twining, golden yellow wiry stems.
1) Loranthus 2) Parthenium 3) Cuscuta 4) Striga

3) TRColeN I WReid g g A 3T —

9) Sgwell wedhe  2) I QRERET  3) SINWH SRR 8) PEper A
3) Botanical name of plant parasitic mistletoes is

1) Dendrophthoe falcate 2) Striga asiatica

3) Orobanche aegyptiaca 4) Cuscuta gronovii

8) SR ST Rt SR Aleeare geid fUard STavT 81 o el

a) SN b) et c) 4 d) e

el DIvRT /1T MM ?

9) Bk a R) a 3T b wh 3) a, b 31T ¢ Hh ¢) ¥4 a, b, ¢ 31t d
4) leave toxic chemicals in the soil which donot allow germination of subsequent crops.

a) Sorghum b) Sunflower ¢) Sugar cane d) Sesamum

Which of the above is/are correct ?

1) a only 2)aand b only 3) a,band c only 4)Alla,b,candd

)  TCATAUD! DIV HTUDT DI gIoThegdTIes GIOTR THRA PHH] PROANT AGd DR ?

9) I ?) I 3) gt 8) ¥ig
5)  Which of the following trap crop helps in reducing damage by Helicoverpa in cotton ?
1) Maize 2) Sorghum 3) Sunflower 4) Marigold

IR - (9) At 3nfor gffeRe a==a<

Q- -3 3-19 8- 4-3
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